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° U TT FX G [ 59 FTGT 7 FRT 7T 16 T
797 21 81
Please make sure that the printed pages in this

question paper are 16 in number and it contains 21
questions.

° To7-qF H qfe & # ST [T T #E T T 4 FH
B FY-giérenl & G0 U7 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

° FYI G957 FH FA [IGT JE@ 7 & Yoo, T H BHH
I [

Before beginning to answer a question, its Serial
Number must be written.
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o Fv-gikTmr # &5 4 @l 1/ 91 T Sig)
Don’t leave blank page/ pages in your answer-book.

o FTT-YhdHE % SaRF P g e T A o
STFEAET & @ 3T forar Fav T Fe
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the uwritten
answer.

o ghereff T el To FIT-UF UT o7gsT i@

Candidates must write their Roll Number on the
question paper.

o U g9l F I @7 @ g4 98 GARaGd & & & JeT-IH
g7 q @& & YO % Iy 54 a5 § #HE A @
BT TE] [T A9

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A [R5 : -

(i) & F97 SfFar &

(i) 797 7@ 1 § 958 (i - xiv) FEGTS 597 & qI9%
Je7 1 % 81 [RgER §7 Je7 % Fav
g

(iii) 797 G&r 2 @ 11 T STy FTINT 597 &1 9%
97 2 SfF F 8 FAF FIT F ITC TTHT 30
gzt 7 &y
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(v)

(vi)
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797 dE 12 § 18 7% T FAGT FoT &1 IA%
797 3 GfH F &1 F9F F9T F FTT TTHT 40
gt 7 &y

797 TEr 19 § 21 dF A9 FT0T F97 81 H9%
97 5 FH T 8 FAF FIT F FAT TTHT 70
gt 7 &y

g9 § @5y @Y @ & [Qeey 78 &1 a9y 5
FE ard gt 5 FTHT FIT F TARE TIT FaIT
4 a7 & 9a gedl 7 @ o paT @ & 797
e 81

General Instructions : —

(9
(%)

(iii)

()

(v)

All questions are compulsory.

Question Number 1 consists of Fourteen (i-xiv)
objective type questions carrying 1 mark
each. Answer these questions as per
instructions.

Question Numbers 2 to 11 are very short
answer type questions of 2 marks each.
Answer these in about 30 words each.
Question Numbers 12 to 18 are short answer
type questions of 3 marks each. Answer
these in about 40 words each.

Question Numbers 19 to 21 are long answer
type questions of 5 marks each. Answer

these in about 70 words each.
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(vi) There is no over all choice. However, internal
choice is given in all long answer type
questions of 5 marks each. You have to
attempt only one of the given choice in such

questions.

[ a&gisS 99 ]

[ Objective Type Questions ]

e Sgiamedl Ul & @al fahed AT Il
giae ¥ [T
Choose the correct option of the following

multiple choice questions and write in answer-
book :

1. () F=1 & & g Spe ™ B AN e Jese &g

g St B 7 1
(A) Rn (B) Ne
(C) Xe (D) He

Which of the following Noble gas is used for

advertisement display ?
(A) Rn (B) Ne
(C) Xe (D) He
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(i) fr=1 & @ yod9 o HIH-a1 8 7

COOH COOH
(A) @ (B)
NO>
COOH COOH
(©) @ (D) @
OCH3; CH3
Which of the following is most acidic ?
COOH COOH
(A) @ (B)
NO>
COOH COOH
(©) @ (D) @
OCH3 CH3
(i) Ao I~TE Reich 30 9§ A1 A E ¢ A
(A) RIS Rei®
(B) 9 Reriw

(C) Ugfcraienllush ReRih
(D) f&Hi® a9 ReRi®
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Molal elevation constant is also called as :

(A)
(B)
(©)
(D)

Cryoscopic constant
Gas constant
Ebullioscopic constant

Freezing point depression constant

(iv) P & & ord-dsiltd ageh eI B
(A) WY Tge (B)
(C) dgaE (D) S-S

Example of semi-synthetic polymer is :

(A)
(©)

(v) CHj;

(A)
(B)
(©)
(D)

CH; - CH, — OH

(A)
(B)
(©)
(D)

4329/(Set : B)

Cellulose nitrate (B) Starch

Cellulose (D) Buna-S
_CH,-OH—2°%  x. xamd? 1
CH2 = CH2

C,Hs -O-CyHg
CH; -O-CH, —CHj;
CH3;CH,HSO,

12504 X; what is X ?
413K

CH, =CH,

C,Hs -O-CyHy

CH; -O—-CH, -CH;

CH;CH,HSO,
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iR get & STX g a1 & ar|l | &g ¢

Answer the following questions in one or two

sentences :

(vi) & eTqell & T IAET [ R Sgq oTueEed
q e s ? 1
Name two metals which are extracted
electrolytically.

(vii) Sifew erfwfhamd @ St ¥ ? 1

What are complex reactions ?

(vili) TEIEH H YN dad €2 @ T U9 YAl a%
difyd =t § 7 1

Why is use of aspartame limited to cold

foods and drinks ?
(ix) ST DY FM & & 7 1
What are reducing sugars ?

(x) foefM K& &9 @ 89 ol ard &0 9 g

Name the disease caused by deficiency of

Vitamin K.
(xi) STUFST | oY P TR B ° 1
What do you mean by Doping ?
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(xii) ®haET Pl TRATNG BT 1
Define coagulation.
(xiii) K4[Mn(CN)g]® IUPAC 9 faifeu 1

Write IUPAC name of K4[Mn(CN)g].

(xiv) Qfcehet Ramgs! @ p-faciio stfifhen &1 T SR
Gy 1

Give an example of f-elimination reaction of
alkyl halides.

[ ATy ST 95 ]

[ Very Short Answer Type Questions ]

2. HGUHN Ak W o @y fewel fafau 2

Write a short note on carbylamine reaction.

3. Y Ui 3 771 § 39 uRafda s ? 1+41=2

How will you convert aniline into the following ?
(2) p-SHIA

p-bromoaniline
(b) p-BEEIRITSTIH

p-hydroxyazobenzene

4. TEESH fEUCE A & B H U ST & qel
HIEHIE P4 @ ® H, i 7 2

Nitrogen exist as diatomic molecule and

phosphorous as P4, why ?
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5. 293 K W @ & 99 I 17.535 mm Hg g IR
25 g WHE Bl 450 g o H Hiel, A 293 K W A &l
a & YR i 2
Vapour pressure of water at 293 K is 17.535 mm
Hg. Calculate the vapour pressure of water at
293 K when 25 g of glucose is dissolved in 450 g
of water.

6. BUS & IGG-AYHSA % YU (o & e dow 2

State Faraday's first law of electrolysis.

7. NaCl, HCl W& NaAc 3 [T A°n HEAT 126.4,
4259 T4 91.05 cm2 mol ™' 81 HAc & @ A° @l
TR HifoTT| 2

A°mfor NaCl, HCl and NaAc are 126.4, 425.9
and 91.05 cm? mol’ respectively. Calculate A°

for HAc.
8. e W # Wemar @ RMfedig oEen dg@ &
T 2

With the help of Henry's law, explain the medical
condition known as bends.

9. Y% FT Bd & ¢ TH SUANT T § 7 2
What are Tranquilizers ? What is their use ?

10. 99EA® AR Hedgad Tal (YE) § fONE &Y uoe @l
T% I3 T 2

Distinguish between the terms homopolymer
and copolymer and give one example of each.
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11. DNA @ RNA § g oo fafaw) 2
Write four differences between DNA and RNA.

[ @Y ST 99 |

[ Short Answer Type Questions ]

12. (a) HX fec TH &9 § Fheedipa el &, oed HIK
#H R 3.61x10°8 cm B TE I9MEW & TOMT
fPU g9 & "9 9T A W N« 8.92 g/cm3 H
THMA B 2

Copper crystallizes in fcc lattice with edge
length 3.61x10® cm. Show that the
calculated density is in agreement with its
measured value of 8.92 g/cm3.

(b) oSfdisd Sk H TH® HiteH H fhad s
frg 8 2 7 1

How many lattice points are there in one

unit cell of body centered lattice ?

13. “dgfod TEEE qEEmen, e $8 8 @ T s
I CER N T N GG e Sl T
Hlieh JETEXTT AT AEET (45 i 3

"A balanced chemical equation never gives us a

true picture of how a reaction takes place."
Justify the statement by taking a suitable
example.
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14. AN THATG ash T B 7 IHOSioh SATSNYOT gHandl
ah BN UM I 3

What is an adsorption isotherm ? Describe

Freundlich adsorption isotherm.

15. =1 arfrichan i fepariafy i 3

Br
|
CHg=CH - ?H—CH3ﬂ>CH3— C-CH,- CH,4
|
CH; OH CHj

Give mechanism for following reaction :
Br

|
CHg=CH - ?H—CH3ﬂ>CH3— C-CH,- CH,4
|
CH3 OH CH3

16. TWILT Hf :
(2) Uferat TAmES ga B gu o o/ § oiffrsei § 7 2

(b) FreE ofveds & foaw o crawmet ®
HET ey ? 1

Explain why :

(a) Alkyl halides, though polar, are immiscible

with water ?

(b) Grignard reagent should be prepared under

anhydrous conditions ?
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17. (a)

(b)

18. (a)

19. (a)
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[Fe(CN)g]*™ @1 [Fe(H,0)]%" &% o fawast
3 1 = B B o ? 2

[Fe(CN)g]*~ and [Fe(H,0)g]?" are of
different colours in dilute solution. Why ?

[Co(NH3)Cl(en),]?" & UM wHEIE &l
T ST 1
Draw structures of optical isomers of
[Co(NH3)Cl(en),] " .

g & forepdor & fenae &1 991 9o B 7 1

What is the significance of leaching in the
extraction of Gold ?

PR AT H AicreT B WA I gC Rads d i
@l S e 7 174

Why copper matte is put in silica lined
converter ?

[ S ST 99 ]

[ Long Answer Type Questions ]

O; & Uaa SeF{lbR® &l d<e i Bl &l
T 7 2

Why does O; act as powerful oxidizing
agent ?
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(b) TISIA Ao A FAA B g+
9 FONEH F B & ¢ 2

Why does electron gain enthalpy of fluorine

is less negative as compared to chlorine ?
(c) T SAicha &l qU HiTT 1
XeF, + H,O —?
Complete the reaction :

XeFy, + H)O = ?

ST

OR

fr=fftea @ & i
(a) SfEH @ @ & IS § IYART AT Sar
2 1
(b) HzPO, Bem®E ot 2 2
() BN Yaa SRS 8 1

Account for the following :
(a) Helium is used in diving apparatus.
(b) H3PO, is tribasic acid.

(c) Halogens are strong oxidizing agent.
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20. (a) HRY A §L W& FHIFY
(i) ©hAT O & oAfEERIEE H o I==w

TRl ST YaiRid et gl 2
(i) HR B oW E°(M?" /M) & 99 9D
(0.34 V) B 2

Explain giving reasons :

(i) The highest oxidation state is exhibited
in oxoanions of a transition metal.

(i) The E°(M?" /M) value for copper is
positive (0.34 V).

(b) AAWTEE! FR BE-HH-G TR TR
yefiid & S § 7 1

What are different oxidation states
exhibited by the lanthanoids ?

3TeE
OR

(a) =1 THED THIGO B QU HIOTC © 1+1=2
() MnO; +I  +H" —>7?
(i) Cr,0% +Sn?*+H' - ?
Complete the following chemical equations :
i) MnO; +I"+H" —>7?

(ii) CroZ +Sn*" +H" - ?

4329/(Set : B)



(c)

21. (a)

4329/(Set :
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e THAT 0N H HiA-Hl € g aer ;& +1
STfeIeRTe S JaRiq Hel & ? 1

Which metal in the first series of transition
metals exhibits +1 oxidation state most

frequently and why ?

La(OH); AR Lu(OH); ¥ 31 &ra Hi9-41 &
3 w4t ? 2

Which out of La(OH); and Lu(OH)3 is more

basic and why ?

IfceeEs T4 tEanHE § i # 3 fiu w
A TS q0e9T i) 2

Give a simple chemical test to distinguish

between benzaldehyde and acetophenone.

fFr=T arfishan bl QU I 1

OQO\ [Ag(NH3)p] YOH™ ”
CHO

Complete the reaction :

Oﬁ [Ag(NH3)o] "OH™

CHO

B) P.T.O.
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() INEH or oI Bfvendifes org & @ HH-4r
yaq o & oiX a4l ? 2

Out of benzoic acid and phenylacetic acid,
which is stronger acid and why ?

AYAT
OR

(2) Tk FEMS AN ‘F (Na®w G CgHi60,) &
a3 H,SO, % |IY S HUHed HH % IUNd Th
PIelierdiceh T @ T Th Yol T 1< U
U P HHE T B A FRIET A W@
I BT Bl T il W Fe-1-39 I
ARfshrel H YgE BN A @l e
SpicAe IR el 3%

An organic compound 'A' (molecular
formula CgH,,0,) was hydrolysed with dil.
H,S0O, to give a carboxylic acid 'B' and an
alcohol 'C'. Oxidation of 'C' with chromic
acid produced 'B'. 'C' on dehydration gives
but-1-ene. Write equations for the reactions
involved.

(b) dIcH-heR A= W T oY fewell foafaw 114

Write a short note on Wolf-Kishner reduction.
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